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Econ 448 
Midterm exam 
March 3, 1994 




Write all answers in your blue book. Show and explain all of your work. Most of the credit on this exam comes from your explanations. 





1. Consider Gardenia, a Lesser Developed Country. The supply of US dollars in the foreign exchange market in Gardenia is given by 

Qs = 2e - 100, 

where e is the amount of the Gardenian currency (g) required to purchase a US dollar. 
The demand for US Dollars in the Gardenian foreign exchange market is given by 

Qd = 140 - e. 

Gardenia requires that all foreign currency exchanges go through the local monetary authorities, at the official exchange rate of 70g to the US dollar. There are, however, no criminal penalties for trading currencies privately, so there is an active parallel foreign currency market in Gardenia. 

(a) (4pts) At the official exchange rate, is the Gardenian currency over-valued, under-valued, or neither? Explain, with reference to a supply and demand diagram for US dollars in the foreign exchange market. 

(b) (4pts) On your diagram from part (a), indicate the supply and demand curves for US dollars in the parallel market. Explain how you found these curves. 

(c) (4pts) What would be the exchange rate on the parallel market and the amount of foreign exchange traded on the parallel market? Explain. 

(d) (3pts) Suppose that Gardenia instituted criminal penalties for privately trading foreign exchange. Would the exchange rate for private foreign currency trade now be the same rate you found in part (c)? Explain. 




2. (20pts) Suppose the U.S. dollar-Canadian dollar spot exchange rate equals 0.92 US dollars per Canadian dollar, and the one-year forward rate is 0.91 US dollars per Canadian dollar. The yield on a one-year U.S. Treasury bill is 4.0% and the yield on a one-year Canadian Treasury bill is 6.0%. Does covered interest parity hold? Explain as thoroughly as possible how you found your answer. Be sure to define covered interest parity. You should explain and derive any formulas you use. 


3. Suppose that purchasing power parity holds in a world with two countries. The price level in the domestic country in 1993 is 100. The price level in the domestic country in 1994 is 125. The price level in the foreign country remains constant over time. The exchange rate (in units of the domestic currency per unit of the foreign currency) in 1993 is 0.20. The annual interest rate on a one-year domestic Treasury bill offered for sale in 1993 is 30.0%. The annual interest rate on a one-year foreign Treasury bill offered for sale in 1993 is 6.0%. Domestic and foreign Treasury bills have the same default risk. 

(a) (5pts) What is the exchange rate in 1994? Thoroughly explain your reasoning. 

(b) (10pts) What was the real annual return on the domestic Treasury bill sold in 1993? What was the real annual return (converted to domestic currency) of the foreign Treasury bill sold in 1993? Explain your work. 

(c) (5pts) Assume still that purchasing power parity holds. The inflation rate abroad during 1994 is certain to be zero. The domestic inflation rate over 1994 is unknown but may well be quite high. Which is riskier: the real return on a domestic Treasury bill sold at the beginning of 1994, or the real return (converted to domestic currency) of the foreign Treasury bill sold at the beginning of 1994? In your explanation, refer to a formula for the real return for each form of saving. 


5. (15pts) Answer EITHER (a) or (b). 

(a) Under what conditions would you not expect covered interest parity to hold? Discuss why you think covered interest parity would not hold under each of these conditions. 

(b) Under what conditions would you not expect purchasing power parity to hold? Discuss why you would not expect purchasing power parity to hold under each condition. 


6. (15pts) Define the current account balance and define the capital account balance. Would it be possible for both the current and the capital account to be in deficit at the same time? If so, explain why. If not, explain why not. 


7. (15pts) Suppose that during the early 1990's, Country A sends 10% of its exports to Country B, 30% of its exports to Country C, 20% of its exports to Country D, 10% of its exports to Country E, and 30% of its exports to Country F. The following nominal bilateral exchange rate table gives the number of units of Country A's currency required to purchase a unit of foreign currency. 


NOMINAL BILATERAL EXCHANGE RATES 

	
	
	COUNTRY

	
	
	B
	C
	D
	E
	F

	YEAR
	1993
	1.0
	2.0
	3.0
	4.0
	5.0

	
	1994
	2.0
	1.5
	4.5
	3.0
	6.0




Calculate Country A's nominal effective exchange rate in 1993 and 1994, using the percent of A's exports for the weights. Show your work. Did Country A's currency appreciate or depreciate in nominal terms between the two years? Explain.
